
www.sitspa.com

141
Direct Drives 

S
IT

-L
O

C
K

®

SIT-LOCK® 15 - Self-Centering

Suitable for servomotors and small pulleys. It gives an axial force,

similar to the clamp load of the screws, and an axial movement

that can be used to set ball bearings.

Maximum allowable roughness

Rt 16 µm

Maximum recommended tolerance

shaft h 8  -  hub H 8

Removal

Gradually loosen the clamping screws. Transfer the screws into

the releasing tapped holes and tighten them until the front cone

is released. Loosen the clamping screws again. Transfer the

clamping screws into the releasing holes of the intermediate

ring, and tighten them until the back cone is released.

Note: To reuse the locking element, carefully oil the screws

and the conical surfaces, then follow installation instructions.

Concentricity

For self-centering locking assemblies, the clamping element

has a centering effect and the concentricity error can be consi-

dered 0.02-0.04 mm.

Installation

Carefully clean contact surfaces of shaft and hub. Then, lightly oil

both surfaces with standard mineral oil. Position the SIT-LOCK®

on the shaft  and into the hub machined bore. Align them as

required by the application. Gradually and uniformly tighten the

locking screws to the tightening torque (Ms). 

You must  tighten the screws in diametrically opposite sequence in

stages:

• hand tighten the screws until the surfaces are in contact

• carefully check the position of the hub on the shaft

• tighten the screws to half the value of the tightening torque

(Ms) stated in the catalogue

• repeat the operation until the tightening torque is reached using

the dynamometric screw-driver

• check every locking screw to insure it has been tightened to

the specific tightening torque

Do not use lubricant like “Molykote” or molybdenum disulfide

based oils.



www.sitspa.com

142
Direct Drives

Dimensions [mm] Performances Pressure [N/mm2] Clamping screws (DIN 912 - 12,9)

d x D d D L L1
MT

[Nm]

Fax

[kN]
pw pn N° Type

Ms

[Nm]

5 x 16 5 16 13,5 11 7 3 190 60 3 M2,5 x 10 1,2

6 x 16 6 16 13,5 11 9 3 160 60 3 M2,5 x 10 1,2

6,35 x 16 6,35 16 13,5 11 9 3 150 60 3 M2,5 x 10 1,2

7 x 17 7 17 13,5 11 10 3 140 60 3 M2,5 x 10 1,2

8 x 18 8 18 13,5 11 11 3 120 55 3 M2,5 x 10 1,2

9 x 20 9 20 15,0 13 17 3 120 55 4 M2,5 x 12 1,2

9,53 x 20 9,53 20 15,0 13 17 3 115 55 4 M2,5 x 12 1,2

10 x 20 10 20 15,5 13 19 3 110 55 4 M2,5 x 12 1,2

11 x 22 11 22 15,5 13 21 3 100 50 4 M2,5 x 12 1,2

12 x 22 12 22 15,5 13 23 3 90 50 4 M2,5 x 12 1,2

14 x 26 14 26 20,0 17 40 6 95 50 4 M3 x 16 2,1

15 x 28 15 28 20,0 17 43 6 90 50 4 M3 x 16 2,1

16 x 32 16 32 21,0 17 80 10 150 70 4 M4 x 16 4,9

17 x 35 17 35 25,0 21 85 10 110 55 4 M4 x 20 4,9

18 x 35 18 35 25,0 21 90 10 105 55 4 M4 x 20 4,9

19 x 35 19 35 25,0 21 95 10 100 55 4 M4 x 20 4,9

20 x 38 20 38 26,0 21 165 16 155 80 4 M5 x 20 10

22 x 40 22 40 26,0 21 180 16 140 75 4 M5 x 20 10

24 x 47 24 47 32,0 26 280 23 145 75 4 M6 x 24 17

25 x 47 25 47 32,0 26 290 23 140 75 4 M6 x 24 17

28 x 50 28 50 32,0 26 485 35 180 100 6 M6 x 24 17

30 x 55 30 55 32,0 26 520 35 170 95 6 M6 x 24 17

32 x 55 32 55 32,0 26 555 35 165 95 6 M6 x 24 17

35 x 60 35 60 37,0 31 810 46 170 100 8 M6 x 28 17

38 x 65 38 65 37,0 31 880 46 155 90 8 M6 x 28 17

40 x 65 40 65 37,0 31 925 46 150 90 8 M6 x 28 17

42 x 75 42 75 44,0 36 1350 64 170 95 6 M8 x 34 41

45 x 75 45 75 44,0 36 1450 64 160 95 6 M8 x 34 41

48 x 80 48 80 44,0 36 2050 85 190 110 8 M8 x 34 41

50 x 80 50 80 44,0 36 2140 85 190 110 8 M8 x 34 41

SIT-LOCK® 15

MS Screw tightening torque Nm

MT Transmissible torque moment Nm

Fax Transmissible axial load N

pw Shaft pressure N/mm2

pn Hub pressure N/mm2

Notes: 

Dimensions representing the total length of the hub are indicative; they are calculated according to the geometric rules.



www.sitspa.com

143
Direct Drives 

S
IT

-L
O

C
K

®

Design of hub outside minimum diameter

When using the locking units, the shaft-hub connection is charac-

terized by a pressure on the hub surface, which is exerted by the

locking unit outer ring when the clamping screws are tightened to

the stated value. It is important to design correctly the hub outsi-

de diameter. The following table summarizes the procedure as a

simple calculation. To determine the hub outside minimum

diameter, simply multiply the factor K by the SIT-LOCK® outside

diameter to obtain the hub outside minimum diameter. The factor

K varies depending on the yield limit of hub material, the hub sur-

face pressure (Pn) and the factor (x), variable according to the

application type (A, B, C).

Hollow shaft

For application with locking-assemblies on hollow shaft, it is
important to scale both hub minimum diameter and hollow

shaft diameter. Contact our Technical Department for design.

Installation type A
X = 1

Installation type  B
X = 0,8

Installation type  C
X = 0,6

Hub min diameter  DxK 

for: K = factor stated in the table

D = SIT-LOCK® outside diameter



www.sitspa.com

144
Direct Drives

Testo 2

Coefficient K 

Hub surface pressure

Yield limit of hub material σ02 [N/mm2]

Hub material

pn

[N/mm2]
Application Heat treatment steel

150 180 200 220 250 270 300 350 400 450 600

GG 25 GG 30 GS 45 GG 40 ST 50-2 GG 50 GG 60 GG 70
GG 20 GS 38 GTS 35 ST 37-2 GS 52 C 35 GS 60 GS 62 GS 70

ST 60-2 ST 70-2 C 60
C 1,29 1,26 1,21 1,19 1,16 1,15 1,13 1,11 1,10 1,09 1,07

60 B 1,40 1,31 1,25 1,24 1,23 1,21 1,19 1,16 1,13 1,12 1,09
A 1,53 1,43 1,37 1,33 1,29 1,26 1,23 1,19 1,17 1,15 1,11

C 1,31 1,26 1,23 1,21 1,19 1,16 1,14 1,12 1,11 1,10 1,08
65 B 1,45 1,36 1,31 1,29 1,25 1,23 1,21 1,17 1,15 1,13 1,10

A 1,61 1,46 1,41 1,36 1,31 1,29 1,25 1,21 1,19 1,17 1,13

C 1,35 1,27 1,25 1,23 1,19 1,17 1,16 1,13 1,12 1,11 1,08
70 B 1,49 1,39 1,35 1,31 1,26 1,24 1,21 1,19 1,16 1,14 1,11

A 1,66 1,51 1,46 1,41 1,35 1,31 1,26 1,23 1,21 1,18 1,14

C 1,31 1,29 1,26 1,24 1,21 1,19 1,16 1,15 1,13 1,12 1,09
75 B 1,53 1,43 1,37 1,33 1,29 1,26 1,23 1,19 1,17 1,15 1,12

A 1,75 1,56 1,49 1,43 1,37 1,34 1,31 1,26 1,21 1,19 1,14

C 1,40 1,32 1,29 1,26 1,22 1,21 1,19 1,16 1,14 1,12 1,09
80 B 1,59 1,46 1,40 1,36 1,31 1,28 1,25 1,21 1,19 1,16 1,12

A 1,82 1,62 1,54 1,47 1,40 1,37 1,32 1,27 1,23 1,21 1,15

C 1,43 1,35 1,31 1,28 1,24 1,22 1,20 1,17 1,15 1,13 1,10
85 B 1,64 1,50 1,43 1,39 1,33 1,30 1,27 1,23 1,20 1,17 1,13

A 1,91 1,68 1,58 1,51 1,43 1,40 1,35 1,29 1,25 1,22 1,16

C 1,47 1,37 1,33 1,29 1,26 1,23 1,21 1,18 1,16 1,14 1,10
90 B 1,70 1,54 1,47 1,41 1,35 1,32 1,29 1,24 1,21 1,19 1,14

A 2,01 1,74 1,63 1,55 1,47 1,42 1,37 1,31 1,27 1,23 1,17

C 1,50 1,40 1,35 1,31 1,27 1,25 1,22 1,19 1,16 1,15 1,11
95 B 1,76 1,58 1,50 1,44 1,38 1,35 1,31 1,26 1,22 1,20 1,15

A 2,12 1,81 1,69 1,60 1,50 1,45 1,40 1,33 1,28 1,25 1,18

C 1,54 1,42 1,37 1,33 1,29 1,26 1,23 1,20 1,17 1,15 1,12
100 B 1,82 1,62 1,54 1,47 1,40 1,37 1,32 1,27 1,23 1,21 1,15

A 2,25 1,88 1,74 1,64 1,54 1,49 1,42 1,35 1,30 1,26 1,19

C 1,57 1,45 1,40 1,35 1,30 1,28 1,25 1,21 1,18 1,16 1,12
105 B 1,89 1,67 1,57 1,51 1,43 1,39 1,34 1,29 1,25 1,22 1,16

A 2,39 1,96 1,80 1,69 1,57 1,52 1,45 1,37 1,32 1,28 1,20

C 1,61 1,48 1,42 1,37 1,32 1,29 1,26 1,22 1,19 1,17 1,13
110 B 1,97 1,72 1,61 1,54 1,45 1,41 1,36 1,30 1,26 1,23 1,17

A 2,56 2,05 1,87 1,74 1,61 1,55 1,48 1,39 1,34 1,29 1,21

C 1,65 1,51 1,44 1,37 1,34 1,31 1,27 1,23 1,20 1,18 1,13
115 B 2,05 1,77 1,65 1,57 1,48 1,44 1,38 1,32 1,27 1,24 1,18

A 2,76 2,14 1,94 1,80 1,65 1,59 1,51 1,42 1,35 1,31 1,22

C 1,70 1,54 1,47 1,40 1,35 1,32 1,29 1,24 1,21 1,19 1,14
120 B 2,14 1,82 1,70 1,61 1,51 1,46 1,40 1,34 1,29 1,25 1,19

A 3,01 2,25 2,01 1,85 1,70 1,62 1,54 1,44 1,37 1,32 1,23

C 1,74 1,57 1,49 1,44 1,37 1,34 1,30 1,25 1,22 1,19 1,14
125 B 2,25 1,88 1,74 1,64 1,54 1,49 1,42 1,35 1,30 1,26 1,19

A 3,33 2,36 2,09 1,92 1,74 1,66 1,57 1,46 1,39 1,34 1,25

C 1,79 1,60 1,52 1,46 1,39 1,36 1,31 1,26 1,23 1,20 1,15
130 B 2,36 1,94 1,79 1,68 1,57 1,51 1,45 1,37 1,31 1,28 1,20

A 3,75 2,50 2,18 1,98 1,79 1,70 1,60 1,49 1,41 1,36 1,26

C 1,84 1,62 1,55 1,48 1,41 1,37 1,33 1,28 1,24 1,21 1,16
135 B 2,49 2,01 1,84 1,72 1,60 1,54 1,47 1,39 1,33 1,29 1,21

A 4,37 2,66 2,28 2,05 1,84 1,74 1,63 1,51 1,43 1,37 1,27

C 1,89 1,67 1,57 1,51 1,43 1,39 1,34 1,29 1,25 1,22 1,16
140 B 2,64 2,08 1,89 1,76 1,63 1,55 1,49 1,40 1,34 1,30 1,22

A 5,40 2,84 2,39 2,13 1,89 1,79 1,67 1,54 1,45 1,39 1,28

C 1,95 1,70 1,60 1,53 1,45 1,41 1,36 1,30 1,26 1,23 1,17
145 B 2,81 2,16 1,95 1,81 1,66 1,59 1,51 1,42 1,36 1,31 1,23

A 7,67 3,06 2,51 2,22 1,95 1,83 1,70 1,56 1,47 1,41 1,29

C 2,01 1,74 1,63 1,55 1,47 1,42 1,37 1,31 1,27 1,24 1,17
150 B 3,01 2,25 2,01 1,85 1,70 1,62 1,54 1,44 1,37 1,32 1,24

A — 3,33 2,66 2,31 2,01 1,88 1,74 1,59 1,49 1,42 1,30

C 2,07 1,78 1,66 1,58 1,49 1,44 1,39 1,32 1,28 1,25 1,18
155 B 3,26 2,34 2,07 1,90 1,73 1,66 1,56 1,46 1,39 1,34 1,24

A — 3,67 2,81 2,41 2,07 1,93 1,78 1,62 1,52 1,44 1,31

C 2,14 1,82 1,70 1,61 1,51 1,46 1,40 1,34 1,29 1,25 1,19
160 B 3,56 2,44 2,14 1,95 1,77 1,68 1,59 1,48 1,40 1,35 1,25

A — 4,13 3,01 2,53 2,14 1,99 1,82 1,65 1,54 1,48 1,32

C 2,22 1,87 1,73 1,63 1,53 1,48 1,42 1,35 1,30 1,26 1,19
165 B 3,97 2,56 2,22 2,01 1,81 1,72 1,61 1,50 1,42 1,36 1,26

A — 4,81 3,24 2,66 2,22 2,05 1,87 1,68 1,56 1,48 1,34

Note: pn is stated in the dimensional table of each of the locking assemblies. Installation type (A, B, C) are stated in the previous page. 


